Readiness Assessment Test # 1                                                                            SCI 1300                                     


Names:_________________________________________________________________


_________________________________________________________________

1. The Dutchman Hans Lipperhey invented the telescope in 1608. Which of the four astronomers did not use a telescope? (There may be more than one correct answer.)

□ Copernicus
               □ Brahe
               □ Galilei
                           □ Kepler

2. Which of the astronomers became an assistant to Tycho Brahe?

□ Copernicus
                             □ Galilei
                           □ Kepler

3. Who invented the “astronomical telescope”, consisting of two convex lenses?

□ Copernicus
               □ Brahe
               □ Galilei
                           □ Kepler

4. Which of the astronomers became famous for his 20 years of high-quality astronomical observations?

□ Copernicus
               □ Brahe
               □ Galilei
                           □ Kepler

5. Speculate why Copernicus did not publish his conjectures until the very end of his life.

6. Why was Galilei suspected of heresy and put under house arrest?

7. Speculate about the purpose of Kepler’s publication of the “Rudolphine Tables” containing astronomical tables?

The time period under consideration saw a gradual change of the idea which celestial objects move around which other celestial objects in our planetary system. Describe the different models about our planetary system favored 

8. by Ptolemy and Aristoteles (=before Copernicus):

9. by Nicolaus Copernicus:

10. by Tycho Brahe:

11. by Johannes Kepler:
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